Potències de nombres enters. Solucions

1.- 

a) (-3)7
b) (-5)3
c) (-9)8
d) (-2)4
e) (11)-4
f) (-4)-3
g) 10-3
h) (-6)5
i) (-18)7
j) (-7)-4
k) 7-6
l) (-5)-2
2.- 

a) (-4)4
b) (3)10
c) (-8)7
d) (-5)-6
e) (-13)4
f) 711
g) (-2)4
h) (-6)0 = 1
i) (-5)-10
j) 9-1
k) (-1)3
l) (3)-5
3.-

a) (-6)12
b) 2-1
c) (-9)-1
d) (-7)-1
e) 56
f) (-3)

g) 1-7  =1

h) (-8)-1
i) 13-2
j) (-9)5
k) 74
l) (4)-14
m) (-3)3
n) 5-4
o) (-12)-11
p) 22
4.- 

a) 14-25
b) (-6)10
c) (-7)-24
d) 20
e) (11)-80
f) -50
g) (-8)-320
h) (30)-30
i) (-12)42
j) (-4)-72
5.- 

a) (-3)17
b) 30
c) (-5)-7
d) (-7)26
e) (-6)-12
f) (-3)24
g) (-5)-2
h) (-2)16
